EH 2

F 49 EII&RSTIVERRAZRRES]

MR FEROEAR. A%

I#]

IRk 27 %6 A 15 H

ERiFT
RHEERBEERER NS T IR G EHEE

U REF



—RHEBAEANEZERTHS 1
— A EANEGTRE DB R 5

i}

— 2 HAEABXE ®EWH= - - = = = = = = = =9

o
o
o
@ MuHEEARRAYYIX<TY -+ = =« = o o o o 213
O— A EABARALDEEHREBGSE - - - - - 2 0 000 2 T
OFTEFEMNETHEIANLEZF - EMMEmb-EAMRKELYEZ — - - 21

@ H AB L EEHEL - + « «+ « « « « 4w 4 w4 4. . .95

K—MRHAFEANEEB L. 26 FEPICREL-HFRRFEL OB TH- =1, EHEAL,



1.8AH7EL 934

FEER I (1124F) (ERR265FE)

FRILEEERE 364

HIEEMEE 574

MBEZRRLEDTZE XIOIXHFAFEREEET (01

[(£ERTHS

TREDER

BT A

ERALES

R7A

OHILA

O&Rmitrs

OXA

i

0 #

o #

0 #

o %

o %

o #

2 —AXIEMADBERE 194

MBEXRRELENSF-DD (57H)

KA DERODFEREARENLDN LY,

BiRL-&

BIIA

otz Jed

»7

5

184

14

o

3. RIEE O

4315 Ot

5. ZMfth O




MR RIS R (PILER M RERZRO ICRIFHER

(#4)
(o] 51 1[E] 2[] 3 4[| 5ELE B
EEXEIE(RILA) 11 0 o4 7 2 2 .
14% 0% 71% 9% 3% 3%
O[= 1[E] 2[ 3[E 48 5ELE 5
MBEZRRLDATZEH
0 0 0 0 0 0 0
THBRERTUATRE I EHHEA] 0% 0% 0% 0% 0% 0% 0%
B AICHT BERERIZEHBHE 0% 0% 0% 0% 0% 0% ’
o[ 1M 2[ 3E 4[a] 5E L L &
MBEFRTET
= 0 0 49 6 1 1 57
THRRERTET IS L5 0% 0% 86% 11% 2% 2% 75%
BRI AISHS R EBEKICEHDEE 0% 0% 91% 86% 50% 50%
O[= 1[E] 2[ 3[E 4[E] 5ELE B
T DX
11 0 5 1 1 1 19
TZ20Mh I EH2EIE 58% 0% 26% 5% 5% 5% 25%
BRI AICH T R EBEKICEHDEE 100% 0% 9% 14% 50% 50%
(o] 1[E] 2 3[E 48] 5ELE E
EEAEIEE ) 11 0 o4 7 2 2 e
14% 0% 71% 9% 3% 3%
(o] 1[E] 2[] 3[E 4[E 5ELE B
HBEREFIRRLDATZE
0 0 0 0 0 0 0
THRRERRLIA TR 250584 0% 0% 0% 0% 0% 0% 0%
SR T IERERICEHDIEE 0% 0% 0% 0% 0% 0% ’
(o] 1[E] 2[] 3[E 4[| 5ELLE B
MERFRTET
0 0 49 6 1 1 57
THREEZRET I EHHEE] 0% 0% 86% 11% 2% 2% 75%
SRITH T AERERICEHDIEE 0% 0% 91% 86% 50% 50%
OfEl 1[E] 2[] 3[E 4[E 5ELE B
Z DX
11 0 5 1 1 1 19
T 204 I= 5 2E 4 58% 0% 26% 5% 5% 5% 25¢%
SRS T ERERICEHDIEE 100% 0% 9% 14% 50% 50% ’

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

(£ERTH=



(o] 51 1[E] 2[] 3 4[| 5@ Lk B
KA (SR 76 0 0 0 0 0 6
100% 0% 0% 0% 0% 0%
O[= 10 2[ 3[E 4[E 5ELE E
HBEERRLATZH
= = 0 0 0 0 0 0 0
THBRERTLUATRE I EHHEA] 0% 0% 0% 0% 0% 0% 0%
| R R SEAERICEHZHENE 0% 0% 0% 0% 0% 0%
O[= 1[E] 2[ 3[E 4[E 5ELUE B
MBEFRTET
= 57 0 0 0 0 0 57
THRRERTETISEDHEEE] 100% 0% 0% 0% 0% 0% 75%
| R R SEAERICEHZENE 75% 0% 0% 0% 0% 0%
o[ 1[@ 2[] 3@ 4[] 5ELE &
T DX
19 0 0 0 0 0 19
TZ0ith= & HE S| 100% 0% 0% 0% 0% 0% 25%
|mERE KT 2 ERERICEHHEIE 25% 0% 0% 0% 0% 0%
1A~3A 3A~6A 6HA~9A 9A~12A 1EUE &
FRE AR 17 51 3 1 4 26
22% 67% 4% 1% 5%
18~3AH 3A~6AH 6H~9AH 98 ~128 1EUE E
MBEFRRLEDTZE
= 0 0 0 0 0 0
THRRERRLUIA TR E5H 584 0% 0% 0% 0% 0% 0%
FREMMICEDHLEE 0% 0% 0% 0% 0%
18~3A8 3A~6AH 6H~9AH 9H~128 1EUE E
MBREZERIET
6 49 1 0 1 57
THRRERRE T EH 84 11% 86% 2% 0% 2% 75%
FREMMICEDHSEE 35% 96% 33% 0% 25%
18~3A8 3A~6H 6H~9H 9H~128 1TEUE E
Z DX
11 2 2 1 3 19
w 58% 1% 1% 5% 16% 959
BRI EH5EE 65% 4% 67% 100% 75%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

(£ERTH=



(£ERTH=

RN [T - AT DR O = 2H oH 4 SEIELE :
(NEMREELLTOEZ ADEDE. HIBREDIIL 9 3 46 15 2 1
BORR. IR (REMICIERLIZLOZERO OfR 76
) 12% 4% 61% 20% 3% 1%
o[l 1[E] 2[] 3[E 4[E 5ELE B
MBERZIRRLUDTZEE
0 0 0 0 0 0 0
THRRERRLIA TR E5H 284 0% 0% 0% 0% 0% 0% 0%
FHEEORRI EHFEE 0% 0% 0% 0% 0% 0% "
OfEl 1[E] 2[] 3[E 4[E 5ELE B
MEEFRTET
0 1 42 13 1 0 57
THRRERRE T EHEE 4] 0% 2% 74% 23% 2% 0% 75%
FHABEOKRICEHIEE 0% 33% 91% 87% 50% 0% ’
OfEl 1[E] 2[] 3[E 4[E 5ELE B
Z DX
9 2 4 2 1 1 19
TZ0H)I=EH 354 47% 11% 21% 11% 5% 5% 259
BEHAZORRI LD SRS 100% 67% 9% 13% 50% 100% ’
RIS 77 —FOIKR o) x -
(THFRIZF/TLBISEFEIEO., HTLEWMEEIE X,
REZE—) 8 9 46
XE#%, [FRISH ISR NREREICH T SIS 63
FFYEENICIBET S-ODEMEBEFRITHIEERET 13% 14% 73%
EECH
O X - &
HMBEREFIRRLDATZE
0 0 0 0
[FIRRRE IR A TR EHHEIE 0% 0% 0% 0%
FIRET7 T — OKRIZEDHZHEIE 0% 0% 0% ’
O X - B
MEEEETET
7 9 40 56
THRRFRTETISEHEEE] 13% 16% 71% 89%
FRET T — OKRIZEDHZEIE 88% 100% 87% ’
O X - B
ZT DX
1 0 6 7
[0 EH2HEIE 14% 0% 86% 1%
FIRET7 T —FOKRIZEDHZHEIE 13% 0% 13%
O A X =
7l 5 . X 1 0 75
(FRRZRRLIBEORFLEARRLTOEN 76
BEA, RFFLTLELGE x)
1% 0% 99%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.



1.RAHGTL 137 4

FEER RIS ZE (1434F) (ER265F )

FRILESMEE 44

HRILERMEE 1334

M@BEZRRLEDTZE XIOIIHFIFEEEET (104)

(£ RIZHS

TREDER

BT A

ERALES

R7A

OHILA

O&Rmitrs

OXA

i

0 %

0 %

0

10 #&

o #

0

M@ARZRTLEN>-2D (1234)

KEBIZABICEANGAO=2DA B,

2 —ARIFMA DB 6 #

BiRL-&

BIIA | &R

»7

5

64 0

o

3.F M OH

435 O

5.ZMDfth 0




(£ RIETGR]

MR RIS R (PILER M RERZRO ICRIFHER )

(o] =1 1E 2[] 3[a 4[] 5@k B
EEAGE (G dN) 63 75 0 1 0 0 130
45% 54% 0% 1% 0% 0%
O[= 1[E] 2[ 3[E 48 5ELE 5
MBEZRRLDATZEH
1 9 0 0 0 0 10
THREERRLEA TR EH 22| 10% 90% 0% 0% 0% 0% 7%
B AISH S R EBEHKICEHDEE 2% 12% 0% 0% 0% 0% ’
o[ 1M 2[ 3E 4[a] 5E L L &
MBEFRTET
56 66 0 1 0 0 123
THREEETET I EH S5 46% 54% 0% 1% 0% 0% 88%
BRI AISHS R EBEKICEHDEE 89% 88% 0% 100% 0% 0%
O[= 1[E] 2[ 3[E 4[E] 5ELE B
T DX
6 0 0 0 0 0 6
TZ0ihlIzEH 354 100% 0% 0% 0% 0% 0% 4%
BRI AICH T R EBEKICEHDEE 10% 0% 0% 0% 0% 0% ’
(o] 1[E] 2 3[E 48] 5ELE E
R EE L) 84 55 0 0 0 0 139
60% 40% 0% 0% 0% 0%
(o] =1 1E 2[] 3[E 4[] 5@ Lk B
MBEFRRLEZDTZE
4 6 0 0 0 0 10
THRRERRLIA TR 250584 40% 60% 0% 0% 0% 0% 7%
SR T IERERICEHDIEE 5% 11% 0% 0% 0% 0% ’
(o] =1 1E 2[] 3[E 4[] 5@k B
MREZERIET
74 49 0 0 0 0 123
THRRERRE T EH 84 60% 40% 0% 0% 0% 0% 88%
SEMBICH T SEKEMIEDHZEE 88% 89% 0% 0% 0% 0% ’
(o] =1 1E 2[] 3[E 4[] 5@k B
Z DX
6 0 0 0 0 0 6
T 204 I= 5 2E 4 100% 0% 0% 0% 0% 0% 29
SRS T ERERICEHDIEE 7% 0% 0% 0% 0% 0% ’

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.



(o] 51 1[E] 2[] 3 4[| 5@ Lk B
RN EE (e g ) 139 0 0 0 0 0 139
100% 0% 0% 0% 0% 0%
O[= 10 2[ 3[E 4[E 5ELE E
HBEERRLATZH
= = 10 0 0 0 0 0 10
THBRERTLUATRE I EHHEA] 100% 0% 0% 0% 0% 0% 7%
| R R SEAERICEHZHENE 7% 0% 0% 0% 0% 0%
O[= 1[E] 2[ 3[E 4[E 5ELUE B
MBEFRTET
= 123 0 0 0 0 0 123
THRRERTETISEDHEEE] 100% 0% 0% 0% 0% 0% 88%
| R R SEAERICEHZENE 88% 0% 0% 0% 0% 0%
o[ 1[@ 2[] 3@ 4[] 5ELE &
T DX
6 0 0 0 0 0 6
TZ0ith= & HE S| 100% 0% 0% 0% 0% 0% 4%
|mERE KT 2 ERERICEHHEIE 4% 0% 0% 0% 0% 0%
1A~3A 3A~6A 6HA~9A 9A~12A 1EUE &
FRE AR 70 56 10 3 0 130
50% 40% 7% 2% 0%
18~3AH 3A~6AH 6H~9AH 98 ~128 1EUE E
MBEFRRLEDTZE
* = 0 5 4 1 0 10
THRRERRLUIA TR E5H 584 0% 50% 40% 10% 0% 7%
FREMMICEDHLEE 0% 9% 40% 33% 0%
18~3A8 3A~6AH 6H~9AH 9H~128 1EUE E
MBREZERIET
64 51 6 2 0 123
THRRERRE T EH 84 52% 41% 5% 2% 0% 88%
FREHRI SRS 91% 91% 60% 200% 0%
18~3A8 3A~6H 6H~9H 9H~128 1TEUE E
Z DX
6 0 0 0 0 6
w 100% 0% 0% 0% 0% 4%
FREHIRI S DS 9% 0% 0% 0% 0%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

(£ RIETGR]



_ ey oy 0 1 2 3 4 5@ELLE B
AR - BRTAR QIR 2 = | s | =
(NEMREELLTOEZ ADEDE. HIBREDIIL 138 1 0 0 0 0
BORT. RE (BRRNICRRU-LOZER O 139
) 99% 1% 0% 0% 0% 0%
o[l 1[E] 2[] 3[E 4[E 5ELE B
MBEZRRLD T ZEH
10 0 0 0 0 0 10
THRRERRLIA TR E5H 284 100% 0% 0% 0% 0% 0% 7%
FHEEORRI EHFEE 7% 0% 0% 0% 0% 0% "
OfEl 1[E] 2[] 3[E 4[E 5ELE B
MEERFRTET
122 1 0 0 0 0 123
THRRERRE T EHEE 4] 99% 1% 0% 0% 0% 0% 88%
FHABEOKRICEHIEE 88% 100% 0% 0% 0% 0% ’
OfEl 1[E] 2[] 3[E 4[E 5ELE B
ZDihx
6 0 0 0 0 0 6
T 2041z 5 2E 4 100% 0% 0% 0% 0% 0% 2
SHEEORRI EDHFEIE 4% 0% 0% 0% 0% 0% "
o) x — 5
FIRET 7 —h DK o 12 18
(TR IZ/TLSHZEIEO. FTULEWEEIE X, 139
REZEE-)
6% 9% 85%
O X - &
HMBEREFIRRLDATZE
1 0 9 10
[FIRRRE IR A TR EHHEIE 10% 0% 90% 7%
HRET T —FORRIZEDHZEE 11% 0% 8%
O X - B
MEEEETET
8 12 103 123
THRRFRTETISEHEEE] 7% 10% 84% 88Y%
FRET T — OKRIZEDHZEIE 89% 100% 87% ’
O X - B
ZT DX
0 0 6 6
[0 EH2HEIE 0% 0% 100% 4
FIRET7 T —FOKRIZEDHZHEIE 0% 0% 5% ’
O A X =
ﬁj‘ll}gﬁ% = S 10 0 129
(FRRZRRLIBEORFLEARRLTOEN 139
BEA, RFFLTLELGE x)
7% 0% 93%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

(£ RIETGR]



1.RAHEL 2954

FIEA LB ZE (3274) (FR26FE E)

FRILEMEEE ot

FAIERMER 2954

M@ERZRRLEDFZE XIOIIHIFAEEEET (691

(BXBERKRGR

TZEDER | BIIA | EREE XA | OBRILA | OEFHE | ONA
i 4 1 &% 1% 63 0 # 0 #
M@BEZRRLEGEN 2D (22614)
XBADERDFEMNRENLDONEL, TOHTH, EXRER#ELGLDON SN,

2 —AXIEMA DB 274

BiRL-&

BIIA | &R

»7

5

27 4 o

o

3.ARILEE off

4.5% ofF

5.ZMDfth 54




MR RIS R (PILER M RERZRO ICRIFHER

(#4)
(o] 51 1[E] 2[] 3 4[| 5ELE B
FEAEEG YN 303 1 8 3 1 1 527
93% 3% 2% 1% 0% 0%
O[= 1[E] 2[ 3[E 48 5ELE 5
HBEERRLATZH
= s 65 2 1 0 1 0 69
THBRERTUATRE I EHHEA] 94% 3% 1% 0% 1% 0% 21%
B AISH S R EBEHKICEHDEE 21% 18% 13% 0% 100% 0%
o[ 1M 2[ 3E 4[a] 5E L L &
MBEFRTET
= 209 8 5 3 0 1 226
THRRERTET IS L5 92% 4% 2% 1% 0% 0% 69%
BRI AISHS R EBEKICEHDEE 69% 73% 63% 100% 0% 100%
O[= 1[E] 2[ 3[E 4[E] 5ELE B
T DX
29 1 2 0 0 0 32
TZ0ihlIzEH 354 91% 3% 6% 0% 0% 0% 10%
BRI AICH T R EBEKICEHDEE 10% 9% 25% 0% 0% 0%
(o] 1[E] 2 3[E 48] 5ELE E
EEAEIEE ) 297 19 8 2 1 0 cor)
91% 6% 2% 1% 0% 0%
(o] 1[E] 2[] 3[E 4[E 5ELE B
HBEREFIRRLDATZE
* = 61 7 1 0 0 0 69
THRRERRLIA TR 250584 88% 10% 1% 0% 0% 0% 21%
SR T IERERICEHDIEE 21% 37% 13% 0% 0% 0%
(o] 1[E] 2[] 3[E 4[| 5ELLE B
MERFRTET
207 10 6 2 1 0 226
THREEZRET I EHHEE] 92% 4% 3% 1% 0% 0% 69%
SRITH T AERERICEHDIEE 70% 53% 75% 100% 100% 0%
OfEl 1[E] 2[] 3[E 4[E 5ELE B
Z DX
29 2 1 0 0 0 32
T 204 I= 5 2E 4 91% 6% 3% 0% 0% 0% 10%
SRS T ERERICEHDIEE 10% 11% 13% 0% 0% 0%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

(BXABERRGES

10



(o] =1 1E 2[] 3[a 4[] 5@ Lk B
RN EE (e g ) 327 0 0 0 0 0 27
100% 0% 0% 0% 0% 0%
O[= 10 2[ 3[E 4[E 5ELE E
LES 2 DB oE
= = 69 0 0 0 0 0 69
THBRERTLUATRE I EHHEA] 100% 0% 0% 0% 0% 0% 21%
| R R SEAERICEHZHENE 21% 0% 0% 0% 0% 0% ’
O[= 1[E] 2[ 3[E 4[E 5ELUE B
MBEFRTET
= 226 0 0 0 0 0 226
THRRERTETISEDHEEE] 100% 0% 0% 0% 0% 0% 69%
| R R SEAERICEHZENE 69% 0% 0% 0% 0% 0%
o[ 1[@ 2[] 3@ 4[] 5ELE &
T DX
32 0 0 0 0 0 32
TZ0ith= & HE S| 100% 0% 0% 0% 0% 0% 10%
|mERE KT 2 ERERICEHHEIE 10% 0% 0% 0% 0% 0%
1A~3A 3A~6A 6HA~9A 9A~12A 1EUE &
FrEE HARS 55 184 59 15 14 cor
17% 56% 18% 5% 4%
18~3AH 3A~6AH 6H~9AH 98 ~128 1EUE E
MBEFRRLEDTZE
E X n 3 34 16 9 7 69
THRRERRLUIA TR E5H 584 4% 49% 23% 13% 10% 21%
FREMRICEDHSEE 5% 18% 27% 60% 50%
18~3A8 3A~6AH 6H~9AH 9H~128 1EUE E
MBREZERIET
35 138 42 5 6 226
THRRERRE T EH 84 15% 61% 19% 2% 3% 69%
RELMIEHZEE 64% 75% 71% 33% 43%
18~3A8 3A~6H 6H~9H 9H~128 1TEUE E
Z DX
17 12 1 1 1 32
T 2041z 5 2E 4] 53% 38% 3% 3% 3% 10%
BRI EH5EE 31% 7% 2% 7% 7%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

(BXABERRGES

11



_ = A 0 1 2 3 4 5ELE 5
AR =B RAE DK . = g g g .
(MEMREBLLTOER A DIRE. MIBEREDIZF 204 12 8 2 6 5
BORT. RE (BRRNICRRU-LOZER O 327
) 90% 4% 2% 1% 2% 2%
o[l 1[E] 2[] 3[E 4[E 5@k B
MBERZIRRLUDTZEE
61 4 2 1 0 1 69
THRRERRLIA TR E5H 284 88% 6% 3% 1% 0% 1% 21%
FHABEORRICEHIEE 21% 33% 25% 50% 0% 20% ’
OfEl 1[E] 2[] 3[E 4[E 5@k B
MBEEZERIET
205 6 6 0 5 4 226
THRRERRE T EHEE 4] 91% 3% 3% 0% 2% 2% 69%
FHABEOKRICEHIEE 70% 50% 75% 0% 83% 80% ’
OfEl 1[E] 2[] 3[E 4[E 5@k B
Z DX
28 2 0 1 1 0 32
T 2041z 5 2E 4 88% 6% 0% 3% 3% 0% 10%
ERRAEOKRICEDHIEE 10% 17% 0% 50% 17% 0%
o) x — 5
FABT7 U 7T—LDRKIR 36 o1 970
(TSR IZBTLAIGEIEO, BFTLVEWMEGEIE X,
REEIE—) S0
11% 6% 83%
O X - &
MBEFRRLEZDTZE
11 4 54 69
[HREERTELATREEHEEIA] 16% 6% 78% 21%
HRET T —FORRIZEDHZEE 31% 19% 20% ’
O X - B
MEEEETET
14 17 195 226
THRRFRTETISEHEEE] 6% 8% 86% 69%
FRET T — OKRIZEDHZEIE 39% 81% 72% ’
O X - B
ZT DX
11 0 21 32
TZ0ith =S BEE] 34% 0% 66% 10%
FIRET7 T —FOKRIZEDHZHEIE 31% 0% 8%
O A X =
ﬁj‘ll}gjﬁ% = N 63 6 258
(FRRZRRLIBEORFLEARRLTOEN
BEARIFLTLVEWNES x) 327
19% 2% 79%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

(BXABERRGES

12



. . (RIEA> T X <]
MBARILEE(17H) (FRR6EE)

1.RAHGEL 164

FRILESMEE Of

HILEEMER 16 4

M@BRZRRLEDFZE XIOIIFAFEEEET (41

TZEDER | BIIA | EREE WA | ORIAN | OErHKE | ORA
i 14 34 of off o off

MBEZXRRELENS-2D (124)
HKBMADERDFEEAKENLDASZLY,

2 —AXRIEBA D O

BERRLT=F | EBBIA | SRR | WA
H ot ot ot

3. RIEE O

4315 Ot

5. ZMDfh 14




(RIgATX<V]

MR RIS R (PILER M RERZRO ICRIFHER )

(o] =1 1[E 2[] 3[a 4[] 5@k B
FEAEEG YN 17 0 0 0 0 0 -
100% 0% 0% 0% 0% 0%
L O[= 1[E] 2[ 3[E 48 5ELE 5
MEEEIRRLUDFZE
4 0 0 0 0 0 4
THREERRLA TR EHZEE] 100% 0% 0% 0% 0% 0% 24%
B AISH S R EBEKICEHDEE 24% 0% 0% 0% 0% 0% ’
R (o] 18] 2[ 3[E 4[E] 5ELE B
MMEZRTES
12 0 0 0 0 0 12
THRRERTETISEDHEEE] 100% 0% 0% 0% 0% 0% 71%
BRI AISH S R EBEKICEHDEE 71% 0% 0% 0% 0% 0% ’
(o] 1] 2[ 3[E 4[E] 5ELE B
Z DX
1 0 0 0 0 0 1
TZ0ith =S HEE] 100% 0% 0% 0% 0% 0% 6%
BT BERERIZEHBHE 6% 0% 0% 0% 0% 0% ’
(o] 1[E] 2| 3[E 48] 5ELE B
EEAEIEE ) 17 0 0 0 0 0 .
100% 0% 0% 0% 0% 0%
(o] =1 1[E 2[] 3[E 4[] 5@k B
MBEERRLEATZH
= = 4 0 0 0 0 0 4
THRRERRLIA TR 25D 584 100% 0% 0% 0% 0% 0% 24%
SR T IERERICEHIEE 24% 0% 0% 0% 0% 0%
(o] =1 1[E 2[] 3= 4[] 5@k B
MEEFRTET
12 0 0 0 0 0 12
THRRERRE T EH 84 100% 0% 0% 0% 0% 0% 71%
SRIICH T AERERICEHDEE 71% 0% 0% 0% 0% 0% ’
(o] =1 1[E 2[] 3[E 4[] 5@k B
T DX
1 0 0 0 0 0 1
TZ0HI= 5 2E 4] 100% 0% 0% 0% 0% 0% 6%
SR T ZERERICEHIEE 6% 0% 0% 0% 0% 0%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.



(o] 51 1[E] 2[] 3 4[| 5ELE B
KA (SR 1 12 3 1 0 0 -
6% 71% 18% 6% 0% 0%
O[= 10 2[ 3[E 4[E 5ELE E
MBEZRRLDATZEH
0 4 0 0 0 0 4
THBRERTLUATRE I EHHEA] 0% 100% 0% 0% 0% 0% 24%
| R R SEAERICEHZHENE 0% 33% 0% 0% 0% 0% ’
O[= 1[E] 2[ 3[E 4[E 5ELUE B
MBEFRTET
0 8 3 1 0 0 12
THRRERTETISEDHEEE] 0% 67% 25% 8% 0% 0% 71%
| R R SEAERICEHZENE 0% 67% 100% 0% 0% 0%
o[ 1[@ 2[] 3@ 4[] 5ELE &
T DX
1 0 0 0 0 0 1
TZ0ith= & HE S| 100% 0% 0% 0% 0% 0% 6%
|mERE KT 2 ERERICEHHEIE 100% 0% 0% 0% 0% 0% ’
1A~3A 3A~6A 6HA~9A 9A~12A 1EUE &
FRE AR 8 7 2 0 0 -
47% 41% 12% 0% 0%
18~3AH 3A~6AH 6H~9AH 98 ~128 1EUE E
MFEEIR KL ZE
2 2 0 0 0 4
THRRERRLUIA TR E5H 584 50% 50% 0% 0% 0% 245
FEBRIEHBHE 25% 29% 0% 0% 0% ’
18~3A8 3A~6AH 6H~9AH 9H~128 1EUE E
MERFRTET
5 5 2 0 0 12
THRRERRE T EH 84 42% 42% 17% 0% 0% 71%
FEMRIS0HHE 63% 71% 100% 0% 0% '
18~3A8 3A~6H 6H~9H 9H~128 1TEUE E
Z DX
1 0 0 0 0 1
T 2041z 5 2E 4] 100% 0% 0% 0% 0% 6%
FEBRIC S BHE 13% 0% 0% 0% 0% ’

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

(RIgATX<V]

15



FIARIZIA - BRIRAE D IKR O = 2H oH 4 SEIELE :
(NEMREELLTOEZ ADEDE. HIBREDIIL 1 16 0 0 0 0
BORR. IR (REMICIERLIZLOZERO OfR 17
) 6% 94% 0% 0% 0% 0%
(o] =1 1E 2[] 3[E 4[] 5@k B
MBERZIRRLUDTZEE
0 4 0 0 0 0 4
THRRERRLIA TR E5H 284 0% 100% 0% 0% 0% 0% 245
ERRAEOKRICEDHIEE 0% 25% 0% 0% 0% 0% ’
(o] =1 1E 2[] 3[E 4[] 5@k B
MBEEZERIET
0 12 0 0 0 0 12
THRRERRE T EHEE 4] 0% 100% 0% 0% 0% 0% 71%
ERRAROKRICEDHIEE 0% 75% 0% 0% 0% 0% ’
(o] =1 1E 2[] 3= 4[] 5@k B
Z DX
1 0 0 0 0 0 1
T 2041z 5 2E 4 100% 0% 0% 0% 0% 0% 6%
EMHEORRIEHDES 100% 0% 0% 0% 0% 0% ’
RIS 7~ 7 —FORR o R —
(THFRIZF/TLBISEFEIEO., HTLEWMEEIE X,
REZEIE—) 0 4 13
XE#%, [FRISH ISR NREREICH T SIS 17
FFYEENICIBET S-ODEMEBEFRITHIEERET 0% 249% 76%
BN
O X - &
MBEFRRLEZDTZE
0 1 0 1
[HREERTELATREEHEEIA] 0% 100% 0% 6%
FIRET7 T — OKRIZEDHZHEIE 0% 25% 0% ’
O x - &
MEEEETET
0 3 12 15
THRRFRTETISEHEEE] 0% 20% 80% 88Y%
FRET T — OKRIZEDHZEIE 0% 75% 92% ’
O X - H
ZT DX
0 0 1 1
TZ0ith =S BEE] 0% 0% 100% 6%
FIRET7 T —FOKRIZEDHZHEIE 0% 0% 8% ’
O A X =
1B ER= L 0 0 17
(FRRZRRLIBEORFLEARRLTOEN 0
BEA, RFFLTLELGE x)
0% 0% 100%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

(RIgATX<V]

16



R . [BAVEEHRIRTGE]
BRI EE (7)) CER6EE)

1.RRAAGL 6 #

FRILESMEE 54

FRILEEER 14

MA@ARZRTLENTZE XTOIRFRREFEEET (04)

AZEOER | BIIA | SRR »A ORI A | OFFHEE | OWA
441 o 0 o o# o# 0

MBAEZRRLG,NOEED (14)

2 —ARIFMA DB 14

BERRLT=F | EBBIA | SRR | WA
H 0 0 14

3.F M OH

435 O

5.ZMDfth 0




(BXVEEARERGS

MR RIS R (PILER M RERZRO ICRIFHER )

(o] =1 1[E 2[] 3[a 4[] 5@k B
EEREZ(AILA) 2 0 0 0 0 0 ;
100% 0% 0% 0% 0% 0%
o[ 1@ 2] 3@ 4[F 5ELE &
MBEZRRLDATZEH
0 0 0 0 0 0 0
THREERRLEA TR EH 22| 0% 0% 0% 0% 0% 0% 0%
B AISH S R EBEHKICEHDEE 0% 0% 0% 0% 0% 0%
(o] 1M 2[ 3@ 4[] 5ELE &
MBEERTET
= 1 0 0 0 0 0 1
THRRERTET IS L5 100% 0% 0% 0% 0% 0% 50%
BRI AISHS R EBEKICEHDEE 50% 0% 0% 0% 0% 0%
o[ 1[@ 2] 3@ 4[] 5ELE &
T DX
1 0 0 0 0 0 1
TZ0ithI= & HE S| 100% 0% 0% 0% 0% 0% 50%
BRI AICH T R EBEKICEHDEE 50% 0% 0% 0% 0% 0%
(o] 1[E] 2 3[E 48] 5ELE E
EEAEIEE ) 2 0 0 0 0 0 5
100% 0% 0% 0% 0% 0%
(o] =1 1[E 2[] 3[E 4[] 5@ Lk B
MBEFRRLEZDTZE
0 0 0 0 0 0 0
THRRERRLIA TR 250584 0% 0% 0% 0% 0% 0% 0%
SR T IERERICEHDIEE 0% 0% 0% 0% 0% 0%
(o] =1 1E 2[] 3[E 4[] 5@k B
MERFRTET
1 0 0 0 0 0 1
THRRERRE T EH 84 100% 0% 0% 0% 0% 0% 50%
SRITH T AERERICEHDIEE 50% 0% 0% 0% 0% 0%
(o] =1 1[E 2[] 3[E 4[] 5@k B
Z DX
1 0 0 0 0 0 1
T 204 I= 5 2E 4 100% 0% 0% 0% 0% 0% 50%
SRS T ERERICEHDIEE 50% 0% 0% 0% 0% 0%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.



(BXVEEARERGS

(o] 51 1[E] 2[] 3 4[| 5ELE B
RN EE (e g ) 2 0 0 0 0 0 ,
100% 0% 0% 0% 0% 0%
O[= 10 2[ 3[E 4[E 5ELE E
LES 2 D BaE
= >F 0 0 0 0 0 0 0
THBRERTLUATRE I EHHEA] 0% 0% 0% 0% 0% 0% 0%
|memsistsmnmm-snana 0% 0% 0% 0% 0% 0% ’
O[= 1[E] 2[ 3[E 4[E 5ELUE B
MBEFRTET
= 1 0 0 0 0 0 1
THRRERTETISEDHEEE] 100% 0% 0% 0% 0% 0% 50%
| R R SEAERICEHZENE 50% 0% 0% 0% 0% 0%
o[ 1[@ 2[] 3@ 4[] 5ELE &
T DX
1 0 0 0 0 0 1
TZ0ith= & HE S| 100% 0% 0% 0% 0% 0% 50%
|mERE KT 2 ERERICEHHEIE 50% 0% 0% 0% 0% 0%
1A~3A 3A~6A 6HA~9A 9A~12A 1EUE &
FrE 2R 2 0 0 0 0 5
100% 0% 0% 0% 0%
18~3AH 3A~6AH 6H~9AH 98 ~128 1EUE E
HMBEERRLLATRE
= 0 0 0 0 0 0
THRRERRLUIA TR E5H 584 0% 0% 0% 0% 0% 0%
FREMMICEDHLEE 0% 0% 0% 0% 0%
18~3A8 3A~6AH 6H~9AH 9H~128 1EUE E
MERFRTET
1 0 0 0 0 1
THRRERRE T EH 84 100% 0% 0% 0% 0% 50%
FREMMISEDHLEE 50% 0% 0% 0% 0%
18~3A8 3A~6H 6H~9H 9H~128 1TEUE E
Z DX
1 0 0 0 0 1
T 2041z 5 2E 4] 100% 0% 0% 0% 0% 50%
FREHIRI S DS 50% 0% 0% 0% 0%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

19



(BXVEEARERGS

_ = A 0 1 2 3 4 5ELE 5
AR - BRTAR QIR 2 = | s | =
(MERREELLTDERADEE. EEDIFIT 2 0 0 0 0 0
BORR. IR (REMICIERLIZLOZERO OfR 2
) 100% 0% 0% 0% 0% 0%
o[l 1[E] 2[] 3[E 4[E 5ELE B
MBERZIRRLUDTZEE
0 0 0 0 0 0 0
THRRERRLIA TR E5H 284 0% 0% 0% 0% 0% 0% 0%
FHEEORRI EHFEE 0% 0% 0% 0% 0% 0% "
OfEl 1[E] 2[] 3[E 4[E 5ELE B
MEEFRTET
1 0 0 0 0 0 1
THRRERRE T EHEE 4] 100% 0% 0% 0% 0% 0% 50%
FHABEOKRICEHIEE 50% 0% 0% 0% 0% 0% ’
OfEl 1[E] 2[] 3[E 4[E 5ELE B
Z DX
1 0 0 0 0 0 1
T 2041z 5 2E 4 100% 0% 0% 0% 0% 0% 50%
FHABEORRICEHIEE 50% 0% 0% 0% 0% 0% ’
FIRET7 S —hOKR o x - B
(THFRIZF/TLBIEEIEO. BTLEWMEEIE X, 0 0 2
RKEZEIE—) 2
XFRAET7r—rDIEB IR - AF 125200
Tor— ERNENIEDD, SERTEEERFTS, 0% 0% 100%
o) x - B
HMBEREFIRRLDATZE
0 0 0 0
[HREERTELATREEHEEIA] 0% 0% 0% 0%
FIRET7 T — OKRIZEDHZHEIE 0% 0% 0% ’
O x - &
MEEEETET
0 0 1 1
THRRFRTETISEHEEE] 0% 0% 100% 50%
FRET T — OKRIZEDHZEIE 0% 0% 50% ’
O X - B
ZT DX
0 0 1 1
TZ0ith =S BEE] 0% 0% 100% 50%
FIRET7 T —FOKRIZEDHZHEIE 0% 0% 50%
O A X =
1B ER= o 0 0 2
(FRRZRRLIBEORFLEARRLTOEN .
BEA, RFFLTLELGE x)
0% 0% 100%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

20



1.RAHGEL 39

FRILESMEE Of

HIEEMEE 394

TR BILEE (47H) (FRR26EE)

M@BREZRRLEDFZE XIOIIHAFEEEET (64

[FINMAC]

TREDER

BT A

ERALES

R7A

OHILA

O&Rmitrs

OXA

i

3

2 4

14

0 #

0

0

MBEZRELENS=2D (3344)

KBMADERDFREARENEDNELN,

2 —AXRIEBMA DB 54

BiRL-&

BIIA | &R

»7

5

54 0

o

3.F M OH

435 O

5Dk 3 #

21



MR RIS R (PILER M RERZRO ICRIFHER

(#4)
(o] =1 1[E 2[] 3[a 4[] 5@k B
FEAEEG YN 4 1 27 2 2 1 4
9% 23% 57% 4% 4% 2%
O[= 1[E] 2[ 3[E 48 5ELE 5
MBREIRTLI AT RH
= s 0 1 4 0 0 1 6
THREERRLEA TR EH 22| 0% 17% 67% 0% 0% 17% 13%
B AISH S R EBEHKICEHDEE 0% 9% 15% 0% 0% 100%
o[ 1M 2[ 3E 4[a] 5E L L &
MBEFRTET
= 0 8 22 2 1 0 33
THRRERTET IS L5 0% 24% 67% 6% 3% 0% 70%
BRI AISHS R EBEKICEHDEE 0% 73% 81% 100% 50% 0%
O[= 1[E] 2[ 3[E 4[E] 5ELE B
T DX
4 2 1 0 1 0 8
TZ0it =S 5E S| 50% 25% 13% 0% 13% 0% 17%
BRI AICH T R EBEKICEHDEE 100% 18% 4% 0% 50% 0%
(o] 1[E] 2 3[E 48] 5ELE E
EEAEIEE ) 4 28 12 0 2 1 p
9% 60% 26% 0% 4% 2%
(o] =1 1[E 2[] 3[E 4[] 5@ Lk B
HBEREFIRRLDATZE
= 0 3 2 0 0 1 6
THRRERRLIA TR 250584 0% 50% 33% 0% 0% 17% 13%
SR T IERERICEHDIEE 0% 11% 17% 0% 0% 100%
(o] =1 1E 2[] 3[E 4[] 5@k B
MERFRTET
0 24 8 0 1 0 33
THRRERRE T EH 84 0% 73% 24% 0% 3% 0% 70%
SRITH T AERERICEHDIEE 0% 86% 67% 0% 0% 0%
(o] =1 1[E 2[] 3[E 4[] 5@k B
Z DX
4 1 2 0 1 0 8
T 204 I= 5 2E 4 50% 13% 25% 0% 13% 0% 17%
SEMAICH T SEKEMIEHZEE 100% 4% 17% 0% 50% 0%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

[FINMAC]

22



(o] =1 1E 2[] 3[a 4[] 5@ Lk B
KA (SR 6 26 12 2 1 0 .
13% 55% 26% 4% 2% 0%
O[= 10 2[ 3[E 4[E 5ELE E
MBREIRRLI D TR
= = 0 1 3 1 1 0 6
THBRERTLUATRE I EHHEA] 0% 17% 50% 17% 17% 0% 13%
| R R SEAERICEHZHENE 0% 4% 25% 50% 100% 0%
O[= 1[E] 2[ 3[E 4[E 5ELUE B
MBEFRTET
= 2 23 8 0 0 0 33
THRRERTETISEDHEEE] 6% 70% 24% 0% 0% 0% 70%
| R R SEAERICEHZENE 33% 88% 67% 0% 0% 0%
o[ 1[@ 2[] 3@ 4[] 5ELE &
T DX
4 2 1 1 0 0 8
TZ0ith =S BEE] 50% 25% 13% 13% 0% 0% 17%
|mERE KT 2 ERERICEHHEIE 67% 8% 8% 50% 0% 0%
1A~3A 3A~6A 6HA~9A 9A~12A 1EUE &
FrE 2R 41 4 1 0 1 >
87% 9% 2% 0% 2%
18~3AH 3A~6AH 6H~9AH 98 ~128 1EUE E
MBEFRRLEDTZE
4 0 1 0 1 6
THRRERRLUIA TR E5H 584 67% 0% 17% 0% 17% 13%
FREMRICEDHSEE 10% 0% 100% 0% 100%
18~3A8 3A~6AH 6H~9AH 9H~128 1EUE E
MBREZERIET
31 2 0 0 0 33
THRRERRE T EH 84 94% 6% 0% 0% 0% 70%
RELMIEHZEE 76% 50% 0% 0% 0%
18~3A8 3A~6H 6H~9H 9H~128 1TEUE E
Z DX
6 2 0 0 0 8
T 2041z 5 2E 4] 75% 25% 0% 0% 0% 17%
BRI EH5EE 15% 50% 0% 0% 0%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

[FINMAC]

23



FOFEI ) TR RTEAEE DR e LE! el SH 4 SIEIELE
(%ﬁ%ﬁ@iﬂ&%éébfd)%iﬁ@ﬁé~ *Eﬁ£§ 0 47 0 0 0 0
DEIX B ORR., MFER (REAICRRLE 47
3 DER DIRTR) 0% 100% 0% 0% 0% 0%
o[l 1[E] 2[] 3[E 4[E 5@k B
MARZIRRLUDTZEE
T = 0 6 0 0 0 0 6
THRRERRLIA TR E5H 284 0% 100% 0% 0% 0% 0% 13%
EMABORRICEDHEEE 0% 13% 0% 0% 0% 0%
OfEl 1[E] 2[] 3[E 4[E 5@k B
MEEFRTET
0 33 0 0 0 0 33
THRRERRE T EHEE 4] 0% 100% 0% 0% 0% 0% 70%
EAMABORRICEDHEEE 0% 70% 0% 0% 0% 0% ’
OfEl 1[E] 2[] 3[E 4[E 5@k B
F D%
0 8 0 0 0 0 8
T 2041z 5 2E 4 0% 100% 0% 0% 0% 0% 17%
BNBEORRIED SR 0% 17% 0% 0% 0% 0% '
FIR= 77 —FORR o x -
(THFRIZF/TLBISEFEIEO., HTLEWMEEIE X,
KEZE—) 20 0 27
KE#%, EEL-NFRAFHRSRIL - DRELGLDTH1- 47
NESHZERIBEIhL. TUr—NEEDRELEZ®RITT S 43% 0% 57%
P
O X - &
HMBEREEFIR KL 2
2 0 4 6
[FIRRRE IR A TR EHHEIE 33% 0% 67% 13%
HRET T —FORRIZEDHZEE 10% 0% 15% ’
O x - &
MEEERETET
18 0 15 33
TRIREFRTET I EDHHEE] 55% 0% 45% 70%
FRET T — OKRIZEDHZEIE 90% 0% 56% ’
O X - H
ZT DX
0 0 8 8
[0 EH2HEIE 0% 0% 100% 17%
FIRET7 T —FOKRIZEDHZHEIE 0% 0% 30%
O A X =
RIS L . o .
(FRRZRRLIBEORFLEARRLTOEN 47
BEA, RFFLTLELGE x)
0% 100% 0%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

[FINMAC]

24



\ . GEN &35S
R RILEEE (81) (ER265E )

1.RAHGL 4

FRILEMEEE ot

HILERIER

MARZTIRTLENTZE XIOIIHFRREEEET (0#)

AZEOER | BIIA | SRR »A ORI A | OFFHEE | OWA
441 0 # 0 # 0 # 0 # 0 # 0 #

MBEZRTLENO=2D (445)
KMADERDFEEARKENEDN SN,

2 —AXIEMADHE o

BERRLT=F | EBBIA | SRR | WA
H o o o

3.ARILEE off

4.5% ofF

5.2Dfth 444




MR RIS R (PILER M RERZRO ICRIFHER

(#4)
(o] =1 1[E 2[] 3[a 4[] 5@k B
FENEECPN 1 1 3 2 1 0 g
13% 13% 38% 25% 13% 0%
O[= 1[E] 2[ 3[E 48 5ELE 5
HBEERRLATZH
= >F 0 0 0 0 0 0 0
THREERRLEA TR EH 22| 0% 0% 0% 0% 0% 0% 0%
B AISH S R EBEHKICEHDEE 0% 0% 0% 0% 0% 0%
o[ 1M 2[ 3E 4[a] 5E L L &
MBEFRTET
= 0 1 0 2 1 0 4
THRRERTET IS L5 0% 25% 0% 50% 25% 0% 50%
BRI AISHS R EBEKICEHDEE 0% 100% 0% 100% 100% 0%
O[= 1[E] 2[ 3[E 4[E] 5ELE B
ZDhX
1 0 3 0 0 0 4
TZ0it =S 5E S| 25% 0% 75% 0% 0% 0% 50%
BRI AICH T R EBEKICEHDEE 100% 0% 100% 0% 0% 0%
(o] 1[E] 2 3[E 48] 5ELE E
EEACIEE ) 1 1 3 2 1 0 g
13% 13% 38% 25% 13% 0%
(o] =1 1[E 2[] 3[E 4[] 5@ Lk B
HMEREFIRRLEDTZE
= 0 0 0 0 0 0 0
THRRERRLIA TR 250584 0% 0% 0% 0% 0% 0% 0%
SR T IERERICEHDIEE 0% 0% 0% 0% 0% 0%
(o] =1 1E 2[] 3[E 4[] 5@k B
MERFRTET
0 1 0 2 1 0 4
THRRERRE T EH 84 0% 25% 0% 50% 25% 0% 50%
SRITH T AERERICEHDIEE 0% 100% 0% 0% 0% 0%
(o] =1 1[E 2[] 3[E 4[] 5@k B
T DX
1 0 3 0 0 0 4
T 204 I= 5 2E 4 25% 0% 75% 0% 0% 0% 50%
SEMAICH T SEKEMIEHZEE 100% 0% 100% 0% 0% 0%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

(BXAEEXEHS

26



(o] 51 1[E] 2[] 3 4[| 5ELE B
RN EE (e g ) 8 0 0 0 0 0 .
100% 0% 0% 0% 0% 0%
O[= 10 2[ 3[E 4[E 5ELE E
MBEZRRLDATZEH
0 0 0 0 0 0 0
THBRERTLUATRE I EHHEA] 0% 0% 0% 0% 0% 0% 0%
|memsistsmnmm-snana 0% 0% 0% 0% 0% 0% ’
O[= 1[E] 2[ 3[E 4[E 5ELUE B
MBEFRTET
4 0 0 0 0 0 4
THRRERTETISEDHEEE] 100% 0% 0% 0% 0% 0% 50%
| R R SEAERICEHZENE 50% 0% 0% 0% 0% 0%
o[ 1[@ 2[] 3@ 4[] 5ELE &
T DX
4 0 0 0 0 0 4
TZ0ith= & HE S| 100% 0% 0% 0% 0% 0% 50%
|mERE KT 2 ERERICEHHEIE 50% 0% 0% 0% 0% 0% ’
1A~3A 3A~6A 6HA~9A 9A~12A 1EUE &
FrE 2R 2 4 2 0 0 5
25% 50% 25% 0% 0%
18~3AH 3A~6AH 6H~9AH 98 ~128 1EUE E
MFEEIR KL ZE
0 0 0 0 0 0
THRRERRLUIA TR E5H 584 0% 0% 0% 0% 0% 0%
FEBRIEHBHE 0% 0% 0% 0% 0% ’
18~3A8 3A~6AH 6H~9AH 9H~128 1EUE E
MERFRTET
0 2 2 0 0 4
THRRERRE T EH 84 0% 50% 50% 0% 0% 50%
FEMRIS0HHE 0% 50% 100% 0% 0% '
18~3A8 3A~6H 6H~9H 9H~128 1TEUE E
Z DX
2 2 0 0 0 4
T 2041z 5 2E 4] 50% 50% 0% 0% 0% 50%
BRI EH5EE 100% 50% 0% 0% 0% ’

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

(BXAEEXEHS

2]



RN [T - AT DR O = 2H oH 4 SEIELE :
(MERREELLTDERADEE. EEDIFIT 1 i 3 2 1 0
BORR. IR (REMICIERLIZLOZERO OfR 8
) 13% 13% 38% 25% 13% 0%
(o] =1 1E 2[] 3[E 4[] 5@k B
MBERZIRRLUDTZEE
0 0 0 0 0 0 0
THRRERRLIA TR E5H 284 0% 0% 0% 0% 0% 0% 0%
FHEEORRI EHFEE 0% 0% 0% 0% 0% 0% "
(o] =1 1[E 2[] 3[E 4[] 5@k B
MEEFRTET
0 1 0 2 1 0 4
THRRERRE T EHEE 4] 0% 25% 0% 50% 25% 0% 50%
FHABEOKRICEHIEE 0% 100% 0% 100% 100% 0% ’
(o] =1 1[E 2[] 3= 4[] 5@k B
Z DX
1 0 3 0 0 0 4
T 2041z 5 2E 4 25% 0% 75% 0% 0% 0% 50%
FHABEORRICEHIEE 100% 0% 100% 0% 0% 0% ’
FAETU—EDIRR o X - &
(THFRIZBTLRIGEIEO., FTLEWMEGEIE X, 3 1 4
KEIZEIE—) . 8
XSk, B -NECRTAEMIEEDEMERETT
3, 38% 13% 50%
O X - &
MBEFRRLEDTZE
0 0 0 0
[HREERTELATREEHEEIA] 0% 0% 0% 0%
FIRET7 T — OKRIZEDHZHEIE 0% 0% 0% ’
O x - &
MEEEETET
0 1 3 4
THRRFRTETISEHEEE] 0% 25% 75% 50%
FRET T — OKRIZEDHZEIE 0% 100% 75% ’
O X - B
ZT DX
3 0 1 4
TZ0ith =S BEE] 75% 0% 25% 50%
FIRET7 T —FOKRIZEDHZHEIE 100% 0% 25%
O A X =
RIS o o o g
(FRRZRRLIBEORFLEARRLTOEN .
BEA, RFFLTLELGE x)
0% 0% 100%

XIZDM&E T2 —ARIEHMA OB, [3.FIGEL. 458E . [5.FDM1DEE.

(BXAEEXEHS

28



